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The Nervous System Worksheet 
This worksheet accompanies slide 13 of The Nervous System.ppt
1.  Fill in the gaps in the passage below:
Our skin is ______________ to touch, pain, temperature and ___________. 
This is because we have different ___________ in our skin which detect these 
different __________. The receptors are not evenly distributed around our skin, meaning that some areas are more ____________ than others.

2. You are going to carry out an experiment to compare the sensitivity of different parts of 
the body. You will need a partner, a ruler, a blindfold and a hairgrip that is bent open, so that the ends are approximately 0.5 cm apart.
a) One person should be blindfolded. They should choose a body part they would like to be tested, such as their finger tips or the back of their hand.

b) The other person should take a hairgrip and open it up. They should touch their partner with the opened hairgrip. The aim is to get both ends of the opened hairgrip to touch the skin at the same time. Do not press too hard, or the pain and pressure receptors will be stimulated. 
You are aiming to just stimulate the touch ones.
c) The person being touched should say if they feel two points or one. If they feel two points, the hairgrip should be bent to make the gap between them smaller. If they only feel one point, the hairgrip should be opened up to make the gap wider.
d) Try to find the narrowest gap at which the person can feel both points, and record your results in the table below.

	Body part
	Minimum distance (in mm) needed for two points to be felt

	Finger tips
	

	Back of the hand
	

	Neck
	

	
	

	
	

	
	


3.  Fill in the gaps in the passage below:
The most sensitive area in our experiment was the ______________________ and the least sensitive area was the __________________________. 
The more sensitive areas have ________ touch receptors. This increases the chance of stimulating two or more different receptors with the two points of the hairgrip. 
Where there are __________ of receptors in an area, each has a small area of skin over which it can detect a stimulus. 
The distances recorded for each body part indicate the distance between ___________ in 
that area.
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